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QUESTION 1
What configuration step is required for booting the SessionBorder Controller from an external FTP server?

A. Navigate to the bootparams configuration branch and set the host inet field to the IP address of the external BOOTP
Server from which the Session Border Controller can boot.

B. Navigate to the system configuration branch and set the ip address field of the wancom1 management interface.

C. Navigate to the bootparams configuration branch and set the ip address field of the destination SIP device with which
the Session Border Controller needs to interact.

D. Navigate to the system configuration branch and set the ip address field of the wancom0 management interface.

E. Navigate to the bootparams configuration branch, set the host inet or Host IP, FTP username, and FTP password for
the external FTP Server in which the image file resides.

Correct Answer: C

QUESTION 2

From which Session Border Controller node in a high availability (HA) pair, could a network administrator trigger a
system switchover manually by issuing the notify berpd force command?

A. Secondary only

B. Active node that no longer has a heartbeat
C. Standby only

D. Active only

E. Standby orActive

Correct Answer: D

QUESTION 3

What is used by the standby Session Border Controller to send ARP requests via the media interface in a High
Availability (HA) architecture?

A. the IP utility address and its virtual MAC address

B. the virtual IP address and its hardcoded MAC address
C. the IP utility address and its hardcoded MAC address
D. the virtual IP address and its virtual MAC address

E. the IP utility address andthe MAC utility address
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Correct Answer: C

QUESTION 4

When setting up the registration-caching parameter to enabled in the sip-interface configuration element,

A. the Session Border Controller will never use the SIP-NAT mechanism for routing
B. the Session Border Controller will not use the registration cache for routing

C. all endpoints in the realm will be cached when registered

D. only endpoints behind NAT in the realm will be cached when registered

E. the Session Border Controller will never use the local-policy mechanism for routing

Correct Answer: A

QUESTION 5

Which two statements are correct about configuring realms and their corresponding interfaces? (Choose two.)
A. You can associate multiple home realms with a single network interface.

B. You can configure more than one SIP interface per realm.

C. Although you can use both TCP and UDP concurrently as the transport protocol, you can only have one SIP interface
per realm.

D. You can associate multiple realms with a single networkinterface.

E. You can associate multiple network interfaces with a single realm only when either TCP or UDP is used as the
transport protocol.

Correct Answer: CD

QUESTION 6

Which three statements are true about SIP, per RFC 326? (Choose three.)
A. SIP does not provide for resource reservation.

B. SIP defines native methods for negotiating media streams.

C. A SIP transaction occurs between a client and a server.

D. To set up a voice session, SIP relies on protocols such as SDP and RTP.

E. SIP signaling can only be used for voice over IP thereby limiting its use as a general signaling protocol.
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Correct Answer: CDE

QUESTION 7

You wantto configure the maximum duration in seconds of any session in the Session Border Controller.

How would you accomplish this?

A. Navigate to the media-manager configuration element and configure the max-signaling- bandwidth parameter.
B. Navigate to the media-manager configuration element and configure the flow-time-limit parameter.

C. Navigate to the sip-config configuration element and configure the operation-mode parameter.

D. Navigate to the sip-config configuration element and configure theflow-time-limit parameter.

E. Navigate to the media-manager configuration element and configure the latching parameter.

Correct Answer: C

QUESTION 8

The Session Border Controller needs to be configured to act as a Back-to-Back User Agent (B2BUA).
How would you accomplish this?

A. Navigate to the sip-config configuration element and set the operation-mode to stateless.

B. Navigate to the sip-configconfiguration element and set the operation-mode to dialog.

C. Navigate to the sip-config configuration element and set the operation-mode to stateful.

D. Navigate to the session-router configuration element and set the operation-mode to dialog.

E. Navigate to the session-router configuration element and set the operation-mode to none.

Correct Answer: B

QUESTION 9

You are logged in to the Session Border Controller a superuser. You want to remove other user from the system.
How do you accomplish this?

A. from the superuser mode, by executing the remove user command

B. from the user mode, by executing the kill command

C. from the superuser mode, by executing the remove user command

D. from the superuser mode, by executing the kill command
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E. from the user mode, by executing the remove user command

Correct Answer: C

QUESTION 10

Which two statements are true about a realm on the Session Border Controller?

A. It can only have one steering poolport per realm.

B. It is a layer 3 abstraction of a VolP network.

C. Itis a logical definition of a network or group of networks comprising devices that provide real-time communication.
D. Itis a layer 5 abstraction of a VolP network.

E. It is acollection of IP devices that perform IP routing functions.

Correct Answer: BC

QUESTION 11

Where are passwords and licensing information stored?

A. Non-Volatile Random Access Memory (NVRAM)

B. Content Addressable Memory (CAM)

C. RAMmemory

D. Synchronous Dynamic Random Access Memory (SDRAM)
E. Boot Flash

Correct Answer: A

QUESTION 12

Your Session Border Controller is configured as the source and destination for all signaling messages and media
streams coming into and leaving the provider\\'s network.

Which two SIP functions does it provide? (Choose two.)
A. an IP edge router

B. Back-to-Back User Agent (B2BUA)

C. Edge proxy

D. Data firewall
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E. Media gateway

Correct Answer: BD

QUESTION 13

After configuring Header Manipulation Rules (HMRs) for topology hiding, your subsequent testing shows that the
manipulation is not takingeffect.

Identify two causes for this (Choose two.)
A. You have not configured the out-manipulationid parameter of the sip-interface configuration element.
B. You have not enabled policy-based realm-bridging.

C. The value of the name parameter in the header-rule configuration element is different than the value of the out-
manipulationid parameter in the sip-interface configuration element.

D. The value of the match-val-type parameter is not written correctly.
E. The home-proxy-address value does not matchthe $LOCAL_IP value in the new-value parameter.

Correct Answer: AE

QUESTION 14

You want to view an existing multiple-instance element\\'s configuration.

What step should you perform after you go to the correct branch of theconfiguration tree?
A. Select the element and then issue the show command.

B. Type show .

C. Type show ? and select from the displayed list.

D. Typeis ?.

E. Enter the name of the element and then issue the show command.

Correct Answer: E

QUESTION 15

You are configuring a network interface to enable the Session Border Controller to use the interface for signaling and
media.

Identify two valid configuration steps for supporting VLAN 12 (Choose two.)

A. Navigate to the network-interface configuration element and set the sub-port-id parameter to 12.
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B. Navigate to the network-interface configuration element and set the sub-port-id parameter to 0.

C. Navigate to the phy-interface configuration element and configure the hip-id parameter.

D. Navigate to the phy-interface configuration element and configure the pri-utility-address parameter.
E. Navigate to the network-interface configuration element and configure the name parameter.

Correct Answer: AC
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